EXERCICIOS DE ABERTURAS - TREINAMENTO BASICO
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THE OPENING

Position in the Sicilian Defense. White
to play. What is his best move?
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In the French Defense White has
played 3 P—KS5. Wl;at should Black
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No. 16. The only good reply is 11 .... P—KB4. The trap is

11 ... Kt(BS)—Q3?; 12 QXKtP, Q—B3; 13 QXQ, KtXQ: 14 Ree.

;

- 17 R—K1, P—KB4; 18 R—K7, P—Kt3; 19 Kt—R4, B—K12,

Kich, K—B1; 15 B—R6ch, K—Ktl; 16 R—KS5, Kt(B3)—Ks;
20 R—Kt7ch, K—B1; 21 RXRP dis ch, K—Kt1; 22 R—Kt7ch, K—

~ B1; 23 Kt—Kt6ch and wins.

No. 17. Both 4 P—B3 and 4 O—O are excellent: White should
plan to set up a strong Pawn center at an early stage. A sample
continuation is 4 P—B3, KKt—K2; 5 P—Q4, PXP; 6 PXP, B—
Kt5ch; 7B—Q2, B XBch; 8 QXB, P—QR3;9 B—R4, with advantage
to White.

No. 18. 11 .... Q—Q2? loses a piece after 12 KtXB! If then

- 12 ... PXKt; 13 RXKt!, and if 12 .... QXKt; 13 RXKLt!, for the

Black QP is pinned in both cases. :
The Black QKt must move. On 11 .... KtXKt; 12 PXKt time

must be lost to extricate the Kt at K5.

11 .... KtXKP is considered best because it gives Black a strong
counter-attack after 12 P—B3, B—Q3!; 13 PXXKt, B—KKt5; 14 Q—
B2, P—QB4. :

No. 19. 9 Kt—Q5, to break up the Black King position.

No. 20. Black wishes to give back the Pawn and secure a better
ending rather than try to hold on to the extra material at the expense
of a cramped position. The main variation is 8 PXP, PXP;9 QX Qch,
KtXQ; 10 Kt XP, B—K3.

No. 21. 3 .... P—QB4. In such positions it is imperative to
break up the White center Pawn formation.

No. 22. P—QB4! This prevents both any eventual counterplay
on the QB file and the advance of the Black QP.

No. 23. It does nothing about the center and violates the rule

 that Knights should be developed before Bishops. The best answer

is 3 .... PXP; 4 P—K3, P—QKt4, when White has insufficient
compensation for the Pawn.

No. 24. 3 PXP, to secure the better Pawn center after 3 ....
KtXP;4 P—K4. After3 .... QXP; 4 Kt—QB3 Black will likewise
be at a disadvantage because he has no Pawn in the center.




